Nombres Décimaux (H)

Trouvez chaque différence.

851,27 - 70,792 = 60377 - 79,826 =
65285 - 61,525 = 80771 - 0,28698 =
2970,9 - 2915,4 = 0,87467 - 0,46279 =
539,97 - 7,6873 = 30,926 - 0,23073 =
12290 - 20,56 = 12,21 -1,6778 =
19786 - 3,4884 = 5249,7 - 0,37199 =
755,93 - 0,89933 = 4380.,4 - 0,9324 =
740,44 - 75,786 = 373,58 - 0,81243 =
2,9649 - 0,55527 = 94407 - 2,54 =
40300 - 477,1 = 5,9389 - 4,6057 =

MathsLibres.com




Nombres Decimaux (H) Solutions

Trouvez chaque différence.

851,27 - 70,792 = 780,478 60377 - 79,826 = 60297,174
65285 - 61,525 = 65223,475 80771 - 0,28698 = 80770,71302
2970,9 - 2915,4 = 55,5 0,87467 - 0,46279 = 0,41188
539,97 - 7,6873 = 532,2827 30,926 - 0,23073 = 30,69527
12290 - 20,56 = 12269,44 12,21 - 1,6778 = 10,5322

19786 - 3,4884 = 19782,5116 5249,7 - 0,37199 = 5249,32801
755,93 - 0,89933 = 755,03067 4380.4 - 0,9324 = 4379,4676
740,44 - 75,786 = 664,654 373,58 - 0,81243 = 372,76757
2,9649 - 0,55527 = 2,40963 94407 - 2,54 = 94404,46

40300 - 477,1 = 39822,9 5,9389 - 4,6057 = 1,3332
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